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Prompt

M25264

An expression is shown.

2
Em%—l?—ﬁm—ﬁ

A student wrote the steps she used to determine an expression equivalent to the expression shown.

Step1:zm+12—2m—6

@jen &

Step2: =m — %m—i—]?—ﬁ

Step 3: (%) (—%)m+12—ﬁ

aww—%m+ﬁ

= In which step did the student make her first error?
= Explain your response

= Write the correct expression for this step.

= Explain your response.

Enter your answers and your explanations in the space provided.
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Rubric

M25264 Rubric

Score | Description

Response includes each of the following 4 elements:
e Correctly states the step that shows the first error, Step 3 from prompt
e Valid explanation for step chosen

e Valid description of what the student in the prompt should have written
for the chosen step, (2 - E) m + 12 — 6 or equivalent

e Valid explanation for description

Sample Student Response:

In step 3, (2)(—§)m + 12 — 6 , the student combined terms incorrectly by
multiplying the coefficients of m instead of subtracting. The correct expression
for this step is (% - 2) m+ 12 —6o0r (z - %)m + 6 or an equivalent expression,
which correctly represents subtraction of the like terms.

Or other valid response.

Response includes 3 of the 4 elements.

Response includes 2 of the 4 elements.

Response includes 1 of the 4 elements.

O = |N|W

Response is incorrect or irrelevant.
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Anchor Set
Al - A15

With Annotations
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Anchor Set

Anchor papers are labeled using a capital “"A” followed by the sequence humber (e.qg.,
Al, A2).

Anchor papers include
o The prompt.
o The student response.
o A score in the top right corner.
The annotation follows the anchor paper, and
o Is aligned to the rubric.

o Contains parts of the student response(s) that, based on the rubric, support
the scoring of each element.

o Reflects the original spelling and grammar of student response(s).

= Example of scoring element within an annotation, with student
response language (in parentheses):

The correct fraction to represent the location of point G is given (the
fracktion equeals =).

o May contain Scoring Decisions or clarifying notes.

The Anchor Set section is followed by a practice set with a scoring matrix. Annotations
are not included in the Practice Set section.
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5 2
—m—+12——m —6
5 3
A sty I I t I I i tem I I or L ler
showr
) a9 4
L
plsm 12 AL )
5 2 ) \
2=T1 — =M —+ ]__- — b
G 3
3 (3) (-4)m+12-6
ef — —m +6
n which step di St nt mak r i I
Explain your respo
Write the corme e
Explain your response

3rd step. In step 2 student subtracted % by negative

% and in 3rd step he myltiplayed theso 2 fractions. |
think it should be like this:

= [3

step 3: ( — %)m—l—12 —6

because if you put those fractions in perentasis you
will subtract them and mutiplay by m and if u put
parenthesis around each of them you will multiplay
both of them.
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| Annotation |

Anchor Paper 1

Score Point 4
This response receives full credit. It includes each of the four required elements:

e The response includes the step that shows the first error (3rd step).

e The student response provides a valid explanation for the chosen step by
explaining the incorrect use of multiplication (In step 2 student subtracted . . .
3rd step he myltiplayed theso 2 fractions).

Note: In general, a response should state that the fractions [coefficients] should
have been subtracted instead of multiplied. The response needs to show
understanding that the incorrect use of multiplication is the error in Step 3.

e The student response provides a correct expression for the chosen step ((2 - g)m

+12-6). The response shows the two fractions subtracted with the correct use of
the variable m.

e The student response provides a valid explanation for the corrected expression
by explaining the subtraction (if you put those fractions in perentasis you will
subtract them and mutiplay by m and if u put parenthesis around each of them
you will multiplay both of them). The explanation supports their expression.

Note: For this element, the response needs to show understanding that the
coefficients need to be subtracted. This can be done through a written
explanation or through work supporting how their expression was obtained.
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o . .
Tm— '—{m +12—-6

w3 (2) (-3)m+12-06
ep 4 —%r??4(i

* In which step did the student make her first error?

The student made her first error going to step
three.When she subtracted = T m and l m she

some how turned it into multlpllcation,aﬂd took out
one m. she should have come out with

.k 2
% m + 12 — 6 when subtracting ﬁ and 5 you
, 2
need the same denominator so you change § to %

and b — 4islsoyouget%m
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| Annotation |
Anchor Paper 2

Score Point 4
This response receives full credit. It includes each of the four required elements:

e The student response includes the step that shows the first error (step three).

e The student response provides a valid explanation for the chosen step by
explaining the incorrect use of multiplication (she some how turned it into
multiplication,and took out one m).

e The student response provides a correct expression for the chosen step (%m +

12 - 6). The response shows the difference of the two fractions with the correct
use of the variable m.

e The student response provides a valid explanation for the corrected expression
by explaining the subtraction (when subtracting 2 and g you need the same
denominator so you change 2 to % and 5 -4 is 1 so you get %m). This response is
going beyond finding the common denominator and showing the subtraction.

Note: Only addressing the need find a common denominator is insufficient for
credit. The response needs to show or explain that the coefficients need to be
subtracted in the explanation for the corrected expression.
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A3

I I SI0r hic
5 )
—m—+12——m —6
6 k
A st I I I | : I an exj or L ler
showr
9 2 (
plzm+ 12 Al )
2i="n —i:r:—lj—fr
i 3
[—)[ ;I]J}‘Ilf i]
3 )
— —m +6b
which step di stL nt mak r I
Explain your response.
Write the corme pressic
Explain your respo

The student's error was on step three, where she
didn't find the common denominator for % and

(% ) Also she wasn't suppose to multiply the two

fractions.
My answer | recieved in this expression was

% m 4+ 6 because:
2m—Em+12 — 6
%m— %m—!—lZ—G
%),— m +6
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| Annotation |

Anchor Paper 3

Score Point 4
This response receives full credit. It includes each of the four required elements:

e The student response includes the step that shows the first error (step three).

e The student response provides a valid explanation for the chosen step by
explaining the incorrect use of multiplication (wasn’t suppose to multiply the two
fractions).

e The student response provides a correct expression for the chosen step (%m +
6).

e The student response provides a valid explanation for the corrected expression
by explaining the subtraction (%m - gm +12 - 6, %m - %m +12 - 6, %m + 6). The
explanation for the new expression is shown through numeric support. The work
shown supports their expression and uses subtraction properly.
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A4

An expression is shown.

5 2

A student wrote the steps she used to determine an expression equivalent to the expression
shown.

Step 1:

Step 2:

& |n which step did the student make her first error?
e Explain your response.

+ Write the correct expression for this step.

e Explain your response.

Enter your answers and your explanations in the space provided.

=21 [348

m-+12 — % m
—6 but made a mistake in finding the answer. In
step 3 she multiplied % and % which she shouldn't
have done because the equation never indicated for
her to multiply. The correct answer is %+6. In the

third step | subtracted instead of multiplying to find
my answer in step 4.

A student solved the equation
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| Annotation |
Anchor Paper 4

Score Point 3
This response receives partial credit. It includes three of the four required elements:

e The student response includes the step that shows the first error (step 3).

e The student response provides a valid explanation for the chosen step by
explaining the incorrect use of multiplication (multiplied Z and 2 . . . the equation
never indicated for her to multiply).

e The student response provides a valid explanation for the corrected expression
by explaining the subtraction (I subtracted instead of multiplying to find my
answer).

The student response provides an incorrect expression by not including the variable m
(Z + 6).
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A5

5 2
—m—+12——m —6
b 3
A student wr I | I I | n eqt let
showr
. 19 2
pLgm 12 Rl )
= 12 —
— — 1
ep 2 m ] 3 m )

She made her first error on step 3. On step 2 she
had % m — % 1m which was right, but then she put
them in parentheses to multiply the two fractions

when she was supposed to subtract.
The correct expression for this step is:

%m—l—12—6.
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| Annotation |
Anchor Paper 5

Score Point 3
This response receives partial credit. It includes three of the four required elements:

e The student response includes the step that shows the first error (step 3).
e The student response provides a valid explanation for the chosen step by

explaining the incorrect use of multiplication (she put them in parentheses to
multiply the two fractions when she was supposed to subtract).

e The student response provides a correct expression for the chosen step (%m +
12 - 6).

The student response does not provide an explanation for the corrected expression.
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In step 3 the student made her first error. She did

(%) (— %) . This represents that she wants to

multiply the fractions. She actually wants to subtract
the two fractions. The correct expression for this
step is:

5) — (=2 —
(E) ( 2 )m +12 -6
This expression shows that she must subtract the
two fractions.
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| Annotation |
Anchor Paper 6

Score Point 3
This response receives partial credit. It includes three of the four required elements:

e The student response includes the step that shows the first error (step 3).

e The student response provides a valid explanation for the chosen step by
explaining the incorrect use of multiplication (She did (%) (- %). This represents

that she wants to multiply the fractions. She actually wants to subtract the two
fractions).

e The student response provides a valid explanation for the corrected expression
by explaining the subtraction (This expression shows that she must subtract the
two fractions).

The student response provides an incorrect expression by including an extra
subtraction sign ((g) - (- g)m +12 - 6). The extra subtraction sign results in the

. . . . 5
variable m no longer being associated with -
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An expression is shown.

%m—f—lZ—%m—ﬁ

A student wrote the steps she used to determine an expression equivalent to the expression
shown.

Step1:5m+12—%m—6

Step 2: m—%m+12—6

6

5

6
Step 3: (%) (— %) m-+12 —6
Step 4: — %m +6

+ In which step did the student make her first error?
* Explain your response.

* Write the comect expression for this step.

* Explain your response.

Enter your answers and your explanations in the space provided.

In step 3 the student made the error bacause in step
2 it shows between the two numeber that have the
m subtract but the student changed it into
multiplecation. So the student got the wrong answer.

A7
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| Annotation |

Anchor Paper 7

Score Point 2
This response receives partial credit. It includes two of the four required elements:

e The student response includes the step that shows the first error (step 3).

e The student response provides a valid explanation for the chosen step by
explaining the incorrect use of multiplication (in step 2 it shows between the two
numeber that have the m subtract but the student changed it into
multiplecation).

The student response does not provide a correct expression for step 3.

The student response does not provide an explanation for a corrected expression.
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An expression is shown.

%m—f—lZ—%m—ﬁ

A student wrote the steps she used to determine an expression equivalent to the expression
shown.

Stepi:%m-i-l?—%m—ﬁ
StepQ:%
Step 3: (%) (“ %)m+12“6

Step 4: — %m—l—ﬁ

m—2m+12—6

+ In which step did the student make her first error?
* Explain your response.

* Write the comect expression for this step.

* Explain your response.

Enter your answers and your explanations in the space provided.

The student made her error in step 3 when she
didn't simpilify the 12 — 6. The correct answer for

this step is % m — % m —+ 6. It is wrong because
you must combine numbers first.

A8
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| Annotation |
Anchor Paper 8

Score Point 2
This response receives partial credit. It includes two of the four required elements:

e The student response includes the step that shows the first error (step 3).

e The student response provides a correct expression for the chosen step (Zm - ém
+ 6).

The student response provides an insufficient explanation for the chosen step (didn’t

simpilify the 12 - 6). The response does not address the incorrect use of
multiplication.

The student response provides an insufficient explanation for the corrected expression
(you must combine numbers first). The response does not address subtraction.

© 2022 CCSSO, LLC M25264 Page 20 of 46



An expression is shown.

9
m—i—l'.?—?m—b'

| o

A student wrote the steps she used to determine an expression eguivalent to the expression

; . 2 .
sep=m+12—=m—6
6 3
. 2 i W
tep 2 1:;:.—;:;:.-:—13—8

5
Step 3: (%) (— ;]) m+12 —6

3

(L]

# |n which step did the student make her first error?
¢ Explain your response.
* Wnte the cormect expression for this step

¢ Explain your response.

Enter your answers and your explanations in the space provided

The student made their first mistake on step two.
The student used the comunitive property but forgot
to change the subtraction to addition and the
positive number to a negative. Step two should have

been like this. % m + (— %)m +12 -6

This is the way the student should have done it
becuase if you forget to do the opposite when you
use the comunitive property it changes your
problem.

© 2022 CCSSO, LLC M25264
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| Annotation |
Anchor Paper 9

Score Point 2
This response receives partial credit. It includes two of the four required elements:

e The student response includes a correct expression for the chosen step (Em + (-

g)m + 12 - 6). The expression uses subtraction and appropriate use of
parentheses.

e The student response provides a valid explanation for the corrected expression
by explaining the subtraction (if you forget to do the opposite when you use the
comunitive property it changes your problem). The response addresses changing

the order but keeps all the numbers and coefficients the same. The explanation
is weak but acceptable.

The student response does not state step 3 as showing the first error (step two).

The student response provides an insufficient explanation for the chosen step (used
the comunitive property but forgot to change the subtraction to addition and the

positive number to a negative). The response is too vague and does not address the
incorrect use of multiplication.
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A10
1

5 2
—m+12 ——m —6
b 3
A studer { I | I an exj or L let
showr
1 19 2 (
pl:zm+ 12 T m )
ep2: = M =m+12—6

step 3
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| Annotation |

Anchor Paper 10

Score Point 1
This response receives partial credit. It includes one of the four required elements:

e The student response includes the step that shows the first error (step 3).

The student response provides an incorrect explanation for the chosen step (she didnt
add the other m). The response does not address the incorrect use of multiplication.

The student response provides an incorrect expression for the chosen step ((2 )(- 2

)2m + 12 - 6, —% 2m + 6). The expression removes the coefficients from the variable

m and instead incorrectly adds the m’s to make 2m. It maintains the incorrect use of
multiplication instead of changing it back to subtraction.

The student response does not provide an explanation for the corrected expression.
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Al1l
1

An expression is shown.

5 2
—m+12— —m —6
6 3
A student wrote the steps she used to determine an expression equivalent to the expression

shown.

Step 1: m+12—%m—6

Step 2: m—%m+12—6

3

6

5

6
Step 3: (%) (— %) m-+12 —6
Step 4: — %m-l—ﬁ

+ In which step did the student make her first error?
* Explain your response.

* Write the comect expression for this step.

» Explain your response.

Enter your answers and your explanations in the space provided.

Step 3.
The student did not put m after % in the equation.

f(g-)m (— -g-)m +12 -6

If you use m on one, you have to use it on the other.
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| Annotation |

Anchor Paper 11

Score Point 1
This response receives partial credit. It includes one of the four required elements:

e The student response includes the step that shows the first error (step 3).

The student response provides an incorrect explanation (did not put m after 2). The
response does not address the incorrect use of multiplication.

The student response provides an incorrect expression ((Z)m (- g)m +12-6). The

expression maintains the incorrect use of multiplication instead of changing it back to
subtraction.

The student response provides an incorrect explanation for the corrected expression (if
you use m on one, you have to use it on the other). The response does not support
the expression.
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Al12
1

An expression is shown.

%m+12—§«m—6

A student wrote the steps she used to determine an expression equivalent to the expression
shown.

5 2
Em-l—l?—gm—ﬁ
5 2
Step 3: (%) (— %)m-l—l?—ﬁ
Stepd:—-%—g-mﬁ-ﬁ

* In which step did the student make her first emor?
o Explain your response.

o Write the comrect expression for this step.

* Explain your response.

Enter your answers and your explanations in the space provided.

step 3
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| Annotation |

Anchor Paper 12

Score Point 1
This response receives partial credit. It includes one of the four required elements:

e The student response includes the step that shows the first error (step 3).

The student response does not provide an explanation addressing the incorrect use of
multiplication.

The student response does not provide an expression.

The student response does not provide an explanation for a corrected expression.
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Al13
0

ef ——m +6
which step di st nt mak r i I
Explain your resy
Write the I pre (
Explain your resg

she made her first error on step 2. she changed the
first minus sign to a addition sign and the addition
sign to a minus sign. she only had to change the
minus sign at the end to an additilon sign.

E:«n—l—%;*:rz—12—}—6

6
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| Annotation |

Anchor Paper 13

Score Point 0
This response receives no credit. It includes none of the required elements.

The student response does not include step 3 as showing the first error (step 2).
The student response provides an incorrect explanation for the chosen step (changed

the first minus sign to a addition sign and the addition sign to a minus sign). The
response does not address the incorrect use of multiplication.

The student response provides an incorrect expression (Em + gm - 12 + 6). The

expression changes the incorrect use of multiplication to addition instead of
subtraction, as well as incorrectly changing other signs within the expression.

The student response does not provide an explanation for a corrected expression.
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An expression is shown.

5 2

A student wrote the steps she used to determine an expression equivalent to the expression
shown.

+12—2m—6

Step 1: 3

oo o|en

m

Step 2: m—%m-l—l?—ﬁ
5
6

Stepi!:( ) (— %)m+12—6
1

Step 4: — %m-{-ﬁ

* In which step did the student make her first ermor?
* Explain your response.

* Write the correct expression for this step.

* Explain your response.

Enter your answers and your explanations in the space provided.

step 3 and step 2 you need to get rid of the 12

Al14
0

© 2022 CCSSO, LLC M25264

Page 31 of 46



| Annotation |

Anchor Paper 14

Score Point 0
This response receives no credit. It includes none of the required elements.

The student response provides both a correct and incorrect step as showing the first
error (step 3 and step 2). Since step 2 is also included in the response as an incorrect
step, no credit can be given for this element. Step 2 is correct.

The student response provides an incorrect explanation for the chosen step (you need
to get rid of the 12). The response does not address the incorrect use of
multiplication.

The student response does not provide an expression.

The student response does not provide an explanation for a corrected expression.
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A15
0

An expression is shown.

5 2
—m+12——m —6
6 3
A student wrote the steps she used to determine an expression equivalent to the expression
shown.
5 2
Step 1 Em+12—§m—6
5 2
Step 2 Em—3m+12—6
Step 3: (%) (— %) m-+12 —6
Step 4: — % m +6

¢ In which step did the student make her first error?
* Explain your response.

* Write the comect expression for this step.

» Explain your response.

Enter your answers and your explanations in the space provided.

The Student made her first mistake when she fliped
the spots of % m and the 12.

© 2022 CCSSO, LLC M25264 Page 33 of 46



| Annotation |

Anchor Paper 15

Score Point 0
This response receives no credit. It includes none of the required elements.

The student response does not state step 3 as showing the first error. The work
implies step 2.

The student response provides an incorrect explanation for the step containing the
first error (first mistake when she fliped the spots of %m and the 12). The response

does not address the incorrect use of multiplication and the error identified is not an
incorrect step.

The student response does not provide an expression.

The student response does not provide an explanation for a corrected expression.
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Practice Set 1
P1-1 - P1-10

Annotations Not Included
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P1-1

5 2
—m+12 — —m —6
b 3
A studer | I | : I an expre I L ler
shown.
prem+12—2m—6
-T m—2m+12—6
(5) (—3)m+12-6
ef — = m+6
which step di udent mak i I
Explain your response.

the student made the error in step 3
his error was that he didnt combine like terms

correctly
(% - %) m—+12 — 6

step 4: % +6
he was supposed to subtract them not multiply
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P1-2

5 2 ; -
ep2: = M — f!!!——lz—t_l

wa () (- 3)m+12-6

10 1 '
ep d: — —m + 6
1§,

» |n which step did the student make her first ermmor?
& Explain your response.

* Write the comect expression for this step

e Explain your response

The student got in wrong because she didn't

subtract the right denometer because you can't
subtract % — -3‘3- so she got to change the -31 into %
SO % m — -g— m which give you % m. So the

answer is % m +6.

r'm,-i—12—

..........
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P1-3

An expression is shown.

5 2
—m+12——m—6
6 3
A student wrote the steps she used to determine an expression equivalent to the expression

shown.

Step 1: m—|—12—%m—6

5
6
Step2:%m— %m—l—l?—ﬁ
Step 3: (%) (— %)m+12—6
Step &4 — %m—l—ﬁi

& |n which step did the student make her first error?
& Explain your response.

+ Write the correct expression for this step.

e Explain your response.

Enter your answers and your explanations in the space provided.

She messed up on step 3 becase its she didn't

subtract. S'o it's supposed to be % — 2 50its % m

3
+6.
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P1-4

An expression is shown.

5 2
—m-+12——m —6
6 3
A student wrote the steps she used to determine an expression equivalent to the expression

shown.
Step 1: m—|—12—%m—6

5
6
Step2:%m— %m—l—l?—ﬁ
Step 3: (%) (— %) m -|-12 —6
Step 4 — %m—l—ﬁ

® |n which step did the student make her first error?
& Explain your response.

+ Write the correct expression for this step.

e Explain your response.

Enter your answers and your explanations in the space provided.

in these steps number 2 as an error becaues he or
she switched the numbers;

5 2
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An expression is shown.

|‘_.—:
|I.Q

-m—+12——m —6

=3
)

A student wrote the steps she used to determine an expression eguivalent to the expression

shown.
; . 2 .
stepl: g m+12 — 3m—6

5 2 T "
Step2:=m—=m +12—6
[ 3

sepa (3) (- 3)m+12-6
Step 4: — —L' m + 6

e [n which step did the student make her first ermror?

¢ Explain your re

¢ Write the comect expression for this step.

s Explain your response.

Enter your answers and your explanations in the space provided

The student made her first error in the 3rd step. She

2 L
wrote (%) (— ﬁ ) m this is incorect because one

% doesn't have m and in the problem it is suppose

to be subtraction this is multiplacation. The 3rd

should look like % m +12 — 6. The fourth step

would be % m +6. | did % - % which equaled %

and 12 —6 = 6 and in conculsion the answer is
%m + 6.

© 2022 CCSSO, LLC M25264
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P1-6

An expression is shown.

5 2

A student wrote the steps she used to determine an expression equivalent to the expression
shown.

Step 1: m—|—12—%m—6

5
6
Step2:%m— %m—l—l?—ﬁ
Step 3: (%) (— %) m -|-12 —6
Step 4 — %m—l—ﬁ

® |n which step did the student make her first error?
& Explain your response.

+ Write the correct expression for this step.

e Explain your response.

Enter your answers and your explanations in the space provided.

in step 3 because you're suppose to subtract the

fractions.
5 2 _ 5 _ 4 _1 _ef—=-f=1
t§ -3¢ " sg=-gmtl2-6=6=4

m+ 6
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P1-7

An expression is shown.

5 2

—m-+12——m —6

6 3
A student wrote the steps she used to determine an expression equivalent to the expression
shown.

Step 1:

5

6

Step2:%

Step 3: (% (— %)m—l—12—6
Step 4: — %m -|—6

& |n which step did the student make her first error?
e Explain your response.

o Write the correct expression for this step.

e Explain your response.

Enter your answers and your explanations in the space provided.

The student made her first mistake in step 3. She

put % X _TQ when she should have subtracted
them. The correct expression would be % +6. You
would get this answer by subtracting % - % which

C D 2 5 4 o 1
you get from multiplying 3 by SF "= %
then 12 — 6 = 6 so + +6.
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P1-8

An expression is shown.

5 2
—m-+12——m —6
6 3
A student wrote the steps she used to determine an expression equivalent to the expression

shown.
Step 1:

5

6

Step2:%

Step 3: (% (— %)m-l—lQ—ﬁ
Step 4 — %m -|—6

® |n which step did the student make her first error?
s Explain your response.

+ Write the correct expression for this step.

e Explain your response.

Enter your answers and your explanations in the space provided.

the student first error was the step 2 because she
put % m — % m +12 — 6 but the real step was
% m +12 — % m — 6

that's the answer because it was wrote like that in
first place.
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P1-9

An expression is shown.

5 2
—m+12— —m —6
6 3
A student wrote the steps she used to determine an expression equivalent to the expression

shown.
Step L:

5
6
Step2:%
Step 3: (%) (— %) m -|—]_2 —6

Step4:—%m—|-6

e |n which step did the student make her first error?
e Explain your response.

+ Write the correct expression for this step.

e Explain your response.

Enter your answers and your explanations in the space provided.

Student made her first error in step 3 because she
multiplied instead of subtracting.
Step #3:

%m+6
see | subtracted % and % instead of multiplying
them.
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P1-10

An expression is shown.

5 2
P m412-m—6
g™t 3"

A student wrote the steps she used to determine an expression equivalent to the expression

shown.
5 2
Stepi:gm+12—§m—6
5 2
Step2zgm—§'m.-|—12—6

seps (3) (—2)m+12—6

Step4:—%m+6

& |n which step did the student make her first error?
& Explain your response.

+ Write the correct expression for this step.

e Explain your response.

Enter your answers and your explanations in the space provided.

her first mistake was when she put the (EZZZZZIZE) outside
of the fractions she but the m in the wrong spot so
she got the m in the wrong spot
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| Practice Set Pager ! Score |

P1-1
P1-2
P1-3
P1-4
P1-5
P1-6
P1-7
P1-8
P1-9
P1-10
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